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1. Which of the following is incorrect with respect to arbitration agreement
as per the Arbitration and Conciliation Act, 19967

(A) Arbitration agreement may be written as well as oral.
(B) Arbitration agreement may be in the form of a separate agreement.

(C) Arbitration agreement may be in the form of an arbitration clause in a
contract.

(D) Arbitration agreement may be for all or certain disputes which may arise
between the parties.

ALEYAT 3N Folg ATATAIHA, 1996 & IFTAR ALIEIAT IR & Ha H
fAFfaf@a & @ &l a1 Terd § 2

A) FEIEIAT R fof@d & ag-ary Alf@s Y g1 Gohdr gl
B) HAEITYAT TR Ueh 3oldT FHSIT & & H g Tohdl gl

(

(

(C) ALTEYAT N Ueh 368 H HEIEYAT WS & & H gl Hevell gl

(D) ALTEYAT IR 37 Tl AT $& faarel & fow g deham g ST qaTshRT & o
3c9eeT & TP ol

2. In which of the following circumstances an arbitrator may not be
challenged as per the Arbitration and Conciliation Act, 19967

(A) When a justifiable doubt as to his independence arises.
(B) When a justifiable doubt as to his impartiality arises.

(C) When he possesses the qualifications agreed by the party.
(D)

D) When he becomes ineligible as per the seventh schedule of the Act.

AEGEYAT AR Gorg HATTHA, 1996 & e Fefafad & @ frg aRfeufa #
HEAEY HT Follcdl o1 &7 ST Hebell § ?

(A) IS 3T TAAAAT & IR H 30T TEg 3o &I 8l
(B)aawﬁfﬁwmé:a’r%ﬁsfad qce 5cqrﬂ§>|'<_‘|T€f|
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(C) JT& 38% 9T J&ThR GaRT HgHAd ATV gil
(D) Sie g AT T FIAdr T & HFAR 39 & S|

3. When may two persons be said to be related to each other by half-blood
in accordance with the Hindu Marriage Act, 19557

(A) When they are descended from a common ancestor by the same wife.

(B) When they are descended from a common ancestor by different wives.
(C) When they are descended from a common ancestress by different
husbands.

(D) When they are not descended from a common ancestor at all.

féq faare rfafags, 1955 & TR & al AFIAT T Th-ga@Y HT Fidell
RRAGR gl ST THhaT §?

(A) ST¥ 9 Tk & qaof $T T & Yool & aSl &l

(B) ST& & Ueh &I Yool T Ho@-37eidT Ulcetdl & a2t &l

(C) 59 d U & Yool (R & 3TeRT-3refer qfdal & Fdrel gl |
(

a

D) 5§ d Ueh HHAT Jdol & d2AT =1 &l

4. Which of the following is generally not considered as a valid condition for
a Hindu marriage as per the Hindu Marriage Act, 19557

A) The parties should not have a spouse living at the time of the marriage.

(A)
(B) The parties should be within the degrees of prohibited relationship.
(C) The parties should not be sapindas of each other.

(D)

D) The parties should not be suffering from epilepsy.

fig faare sfafaas, 1955 & 3eTaR faf@a & & R 3mAdk W g fars
& forT aQer o 1T AT SATar ?

(A) TaarE & TFAT Y&THRI Al s Siaaardt siifad =11 gier a1yl
(B) JaTshRI sl Ylaf¥icyr Red &1 &ife & HIaT gier a1fgu]|
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(C) 9aTohRI ! Teh-g@X &I |US &gl gloAl AMZT |
(D) UeThRT & Al & diftg 7& g aRe |

5. Section 13(1) of the Hindu Marriage Act, 1955 provides for the following:
i. Grounds for restitution of conjugal rights
ii. Grounds for judicial separation

iii. Grounds for divorce

(A) i. & ii
(B) ii & iii
(C) iii & i
(D) Only iii

féq faare afafazs, 1955 & arr 13 (1) RArfaf@d g & § -
i. GFIcT TUSRT &7 dglell & foIv 3R

ii. =A% JUFRIOT & fAT IR

iii. deleh o foT 3maR

(A) i 3R i

(B) ii 3R iii
(C) iii 3T i
(D) shael iii

6. What is the meaning of the batil marriage in Muslim Law?

A) Valid marriage

C) Voidable marriage

)
B) Void marriage
)
D)

Irregular marriage
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AFeH Al & arfae faarg &1 #Far 3t § 2

o

7. What is ‘a contract of marriage which may be dissolved by the wife
under a power delegated to her’ called under the Muslim Law?

(A) Talag-us-sunnat
(B) Talag-ul-biddat
(C) Talag-i-tafweez
(D) Talag-a-hasan

'Taatg 1 98 ey 98 Ueell eaRT 38 WY a0 HUPR & dgd &1 fohar 5
Fohdl &' A A¥eH A & dgd @41 &gl Sfar g ?

A dellh-3H-Yeold

C) ddeh-U-dhdlal

(A)
(B) deleh-3ol-foiced
(C)
(D)

D) delleh-T-gddA

8. A Hindu boy and a Hindu girl may be married under the following law:
i. The Hindu Marriage Act, 1955

ii. The Special Marriage Act, 1954

A) Only i is correct.

C

(A)

(B) Only ii is correct.

(C) Both i and ii are correct.
(D)

D) Neither i nor ii is correct.
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fArfaf@a # @ frm 3fAfAgd & dgd T g oger 3R g ogdr endr &
Hehd § ?

i. féq faarg sfafaas, 1955

ii. faQy faarg sfafaas, 1954

9. Through which of the following Amendment Act the rights in the
coparcenary property is made available to a girl child as well?

(A) The Hindu Succession (Amendment) Act, 2002
(B) The Hindu Succession (Amendment) Act, 2004
(C) The Hindu Succession (Amendment) Act, 2005
(D) The Hindu Succession (Amendment) Act, 2006

fArAfaf@a & & fha Farus 3fAfATA garr arfaer & 8 Ggariadhr uid #
PR 3T HIAT AT § ?

fafage, 2002
qenere) fRfags, 2004
, 2005
, 2006

10. What should be the age difference between the adoptive father and his
adopted daughter for a valid adoption?

(A) 15 years
(B) 18 years
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(C) 21 years
(D) No specific age difference required.

qY eAh-Ig0T & foIT g Far 3R 3HAT ek T & T Y H1 IJR fohcar
gler TIfgT ?

(A) 15 a¥

(B)
(C) 21 a¥
(D) #I$ faflrse 3y 3R 3TaRTs =gl &

11. Which of the following case may be considered as the first reported
case of PIL in India?

(A) S.P. Gupta v Union of India

(B) Hussainara Khatoon v State of Bihar
(C) M.C. Mehta v Union of India
(

D) Kalyaneshwari v Union of India

Arfof@a & O g A & 9IRT # Fafed ITRST T YgaT Sof ATHAT ATl
ST bl § ?

12. Who among the following is considered as the father of PIL in India?
(A) Justice S.R. Das

(B) Justice V.R. Krishna lyer

(C) Justice P.N. Bhagwati
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(D) Justice H.R. Khanna
Tfef@a & O 59 9RT & N30, FT 9 ATAT AT § ?

13. Against which of the following a PIL cannot be filed?
A) Against a State Government

(
(B) Against Central Government
(C) Against a private party

(

D) Against Municipal Corporation

Trraad & ¥ o [Eeey SR ATRH G 78 B o T ?
A) T WHER & &

B) g WPR & TWeh

C) TSl etk & T&emw

D) IR 9 & T@arw

(
(
(
(

14. In the light of the guidelines issued by the Supreme Court of India on
which of the following issue a PIL cannot be entertained by the Court?

A) Bonded labour matters.

C) Matters pertaining to neglected children.

(
(
(
(

)

B) Petition from jail for pre-mature release.
)
)

D) Petitions against police for refusing to register a case.

AR & Haled Iy garT Sy fGenfadet & e # Arafaf@a & & f&a
Heg W AT @RI STeligd Irfeepl O faRor #7gh fhar ST el & ?
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15. In which of the following landmark case it was held that Principles of
Natural Justice were applicable not only to judicial and quasi-judicial
functions, but also to administrative functions?

(A) A.K. Kraipak v Union of India

(B) Ram Jawaya Kapoor v State of Punjab

(C) Sonik Industries Rajkot v Municipal Corporation, Rajkot
(D) Maneka Gandhi v Union of India

frfafea & & e Wagrfs amwe # a8 faofia fear amn & gepfas =
& Rcuid o sad =R IR 39-=a1R% st w), dfecad Terafaes st 9 it
Rl 8 § ?

a

RIA Sididl et deilH TolTe Iod

A SSEEIS TSThie FATH IR THAIH, TSTehic

16. In which of the following judgment the Supreme Court had
comprehensively reconsidered S.P. Sampath Kumar v Union of India case?

A) J.B. Chopra v Union of India

C) R.K. Jain v Union of India

(A)
(B) L. Chandra Kumar v Union of India
(C)
(D) S.K. Sarkar v Vinay Chandra Mishra
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frafaf@a 7 O g had & gafsg =arrea 3 ta.dt. gug PAR TATH HRA
Y HATH X &9 JoAiaarR fohar a1 ?

17. Who among the following defined administrative law as 'the law relating
to the control of governmental power'?

A) lvor Jennings

(

(

(C) K.C. Davis
(D) Garner

fArfaf@d & @ fras gemdfae S AR T & HIT0r § F@e6fed
FIeleT o & H GRATNT fohar ar ?

18. What penalty is prescribed for persons illegally practising in courts under
the Advocate Act, 19617

A) Imprisonment upto 3 months

C) Imprisonment upto 9 months

(
(
(
(

)

B) Imprisonment upto 6 months
)
)

D) Imprisonment upto 12 months
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f¥aerar 3T, 1961 & dgd 3erddr # 399 9  goldd Hlel drel
afeaal & fow a7 ¢ [uRa & 2

19. Which provision of the Advocate Act, 1961 empowers the Bar Council of
India to prescribe the standard of professional conduct and etiquette to be
observed by advocates?

(A) Section 42
(B) Section 42A
(C) Section 48A
(D) Section 49

3ifeaerar sfafaae, 1961 F1 T T1 gIaen"T IR FE{ 3HATE 33T A
HTATFATHT @RI ITelel fohT STl STe IS TROT 3R RSeAR & AAF
TR e FT FRAER a1 § 2

20. Which of the following is incorrect according to the Bar Council of India
Rules?

(A) An Advocate can plead in any matter in which he is himself pecuniarily
interested.
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(B) An advocate shall appear in court at all times only in the prescribed
dress.

(C) An Advocate shall not stand as a surety for his client.

(D) An Advocate shall not influence the decision of a court by any improper
means.

I FEAE 3HE e & et & 3R Feafafad & @ #i9 @ Ted §2
(A) 3TaEFar 0 fRdT o #FFer F§ WA FT TGohar & Tad 391 T@g Fr 306
fee & |

(B) faear gx g#y fAuiRa aeme & & 3erea # 3ufeua gem|

(C) 3Taerdr 39w FafeFhel & T FTAIER & &7 F @sT 74T g

(D) f8aerdr forelt 8f 3IRIT AT @ 3ieTeld & Hhael Sl JHTfId LT |

21. Which of the following authority acts as an appellate authority against
the order made by the disciplinary committee of the Bar Council of India?

A) Chairman of the Bar Council of India

B) Vice-chairman of the Bar Council of India

(A)
(B)
(C) High Courts
(D)

D) Supreme Court of India

fFrfafad & @ sl ar Wity IR w3 3% SEar 6T 3RREcHAS
afAfT garT Ru 71w 3nger & favey 3rdiela ey & §9 # & aXdTl & ?

A) IR 318 3% 31 & 3regeT

)
B) IR F3f8e 3w Sf3ar & 3uregey
C)

)

>td odldleld

(
(
(
(

D) {RT T HafTd =T

22. In which of the following situations a one person company (OPC) will
mandatorily get converted into either private or public company?
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(A) In case the paid-up share capital of an OPC exceeds twenty-five lakh
rupees.

(B) In case the paid-up share capital of an OPC exceeds fifty lakh rupees.

(C) In case the paid-up share capital of an OPC exceeds seventy-five lakh
rupees.

(D) In case the paid-up share capital of an OPC exceeds one crore rupees.

fafaf@a 7 o ffa Rufa & vea cafFa Fuear iR 3faed s @ &
T Fidoifelsh &usll # aRafda g smoetr ?

A) Iie frdr T T geohel R Yol TeeiE oG 9T § 3T 1 |
B) Ife fohall Il 1 gl AR Yol Tamd o &9 & A &l
C) afe fordl 3NRE T Fohell AW Yol TuER oG 9T & 38 & |
D) afe fardlr 3l &1 gare MR Yol T s 0 F U @ |

(
(
(
(

23. What is the minimum number of directors required for a public company
as per the Companies Act, 20137

Fuelt AfAfATH, 2013 & AR R ddfae it & fow At H
=TdH Fear fhdel gidr 87

A) 2

B) 3

C

a1

D

~

(A)
(B)
(C)
(D)

24. In which of the following case the Supreme Court of India had
explained the Precautionary Principle in details ?

(A) Vellore Citizens' Welfare Forum v Union of India
(B) A.P. Pollution Control Board v M.V. Nayudu

(C) Indian Council for Enviro-Legal Action v Union of India
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(D) M.C. Mehta v Kamal Nath

Prifafdd & & fFe A § 9RT $ FdfoT =araTeT F weiardr g f
ear O <grear & oY ?

A) dodR ARTRS HeAT HT §oI17 AR T
B) T.4Y. yquur A= &I A THAL Ag
)
)

C) 3TSTeT FI3THT B TAARRI-laTel VeRIeT Sl feidel 3HTH ST

D) TH.HY. AGAl §ATH A 1

25. Which of the following is a landmark case on the public trust doctrine in
the Environmental Law?

(A) Vellore Citizens' Welfare Forum v Union of India

(B) Olga Tellis v Bombay Municipal Corporation

(C) Indian Council for Enviro-Legal Action v Union of India
(D) M.C. Mehta v Kamal Nath

fArAfaf@d # & $laT @1 9RO Fefed 7 dih-ward eeid W v g
HAIHT § ?

A) AedR ATRTRS FHedIoT AT Fel17 ARG 99

B) 3fleer ford ST §9eg IR foere

C) sf3ae F3 A PR TTarI-elETel TRl Sel1H JiATl 3h STsaT
)

D) TH.HY. Al §TH A T

(
(
(
(

26. In which of the following case Section 66A of the Information
Technology Act, 2000 was struck down by the Supreme Court?

(A) Shreya Singhal v Union of India
(B) Kartar Singh v State of Punjab
(C) K.A. Abbas v Union of India
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(D) Maneka Gandhi v Union of India

fAefaf@a & @ g aAEs & guear wieafar ifafaas, 2000 1 4rT 66T H
Hdfed FARATe §aRT GG Y f&ar aram ar ?

27. In which of the following case an electronic record shall not be
attributed to the originator as per the Information Technology Act, 20007

(A) Electronic record sent by the originator himself.

(B) Electronic record sent by an authorised person.

(C) Electronic record sent by an automated system programmed by him.
(

D) Electronic record sent by an unauthorized person.

fArafaf@a & @ g A # guear dieafar sifafazs, 2000 & 36ER
Sl Rapls Yade & IRIAT Far har Sream ?

(A) 9ddh SaRT TG AT AT Soldelieleh RIS

(B) Torel 3Rt cafehd qaRT S 1T Solercifoleh Repis

(C) 3% garT WA fhu v Faarfeld fAEcH gaRT AT 9T Seldcliaieh RNals
(D) frel 3Tt safed ganT SieT 1T soaeiod RS

28. What is the maximum period for which any woman shall be entitled to
maternity benefit under the Maternity Benefit Act, 19617

(A) 6 weeks
(B) 8 weeks
(C) 12 weeks
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(D) 26 weeks

ATdca el AAfATA, 1961 & dgd U Afgelm ARdA fohc=r 31af T A
oY T FRAN & 2

29. For what duration is a woman entitled to leave with wages for
tubectomy operation as per the Maternity Benefit Act, 19617

(A) 2 weeks
(B) 4 weeks
(C) 6 weeks
(D) 8 weeks

Alced o7 HTATHIHA, 1961 & AR cAaciAl TR & AT T HAfgelm
forcelt 3afr d& T el T ghar § ?

30. What should be the minimum number of workers originally employed in
any factory for having at least one canteen in the factory as per the
Factories Act, 19487

(A) 100 workers
(B) 150 workers
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(C) 200 workers
(D) 250 workers

ey rfafAT, 1948 & 3TAR AT off Hhaell A FH T FH Th FdA g9 &
fov A ®9 & AT #fAwT A ~gerdd dEar fFdel gl @nfge ?

31. Who among the following is not included in the definition of a workman
as per the Industrial Disputes Act, 19477

(A) A supervisor drawing monthly salary of 6,000.
(B) A supervisor drawing monthly salary of 8,000.
(C) A supervisor drawing monthly salary of 10,000.
(D) A supervisor drawing monthly salary of 12,000.

e faare aifafags, 1947 & 3qaR Feafafad & @ @l sf@s &
gReeT # enfAe AgT g ?

A) T 6,000 #ATFAF ddeT UIcd =T dTell 9AdeTHh

B) ¥ 8,000 #ATfA% ddsT Ucd el arell YIdeTsh

C) ¥ 10,000 AfA® dd UIcd e arell YIdeTh
)

(
(
(
(D) ¥ 12,000 AfA® dd Ured el arell gIdeTdh

32. Who has defined tort as 'tortious liability arises from the breach of duty
primarily fixed by law; this duty is towards persons generally and its breach
is redressible by an action for unliquidated damages?

(A) Lindsell
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(B) Pollock

(C) Salmond

(D) Winfield

U H 'HIHAYYT ETca HET T U Flolel @R HUIRA hfed & Ieoiod
d 3cTeel gIdT §; I§ Fled ATHAR W IiFaar & 9fa g 3R saer 3eaad

3aRAUIRT &1fd & foT FRas garT AarRvhy § & &0 # fFaa aRenfa
frar g ?

33. Gloucester Grammar School case relates to which of the following
important maxims?

(A) Damnum sine injuria
(B) Injuria sine demno

(C) Ubi jus ibi remedium
(D) Volenti non fit injuria

AT A Tl T ATHA HAATIET & & fohdl Ageaqoul giard & Fafeid § 2

34. Which of the following provision of the Motor Vehicles Act, 1988 relates
to no fault liability?
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A) Section 140

C) Section 162
D) Section 128

Aex arga fafaad, 1988 &1 FAeafaf@a & O &ia a1 uaus a1 v giRica
g g g ?

(A) &RT 140
(B) &RT 151
(
(

(A)
(B) Section 151
(C)
(D)

C) &RT 162
D) 9RT 128

35. How many consumer rights are identified under the Consumer Protection
Act, 2019?

39T daTor AfAATA, 2019 & dgd fhder 3usierar AfARRT AT ggare $r
TR ?
(A) 2
(B) 4
(C) 6
(D) 8

36. Which of the following body constituted under the Consumer Protection
Act, 2019 is authorised to render advice on promotion and protection of
consumers' right under the Act?

(A) Central Consumer Protection Authority
(B) Central Consumer Protection Council

(C) State Consumer Protection Authority
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(D) State Consumer Protection Council

3UMaar T3e&ToT JDATA, 2019 & dgd Ifed AFIfai@d & & i a1 e
AT & dgd 3MFat & ifOFR & oy 31 T W o & &

37. Which of the following provision of the Constitution of India states that
no tax can be levied or collected except by authority of law?

(A) Article 246
(B) Article 256
(C) Article 260
(D) Article 265

AR & AUl & fAeAfaf@d & @ Sl @ waursT & gl 731 § & e
IR & 37arar g 3 T TR™AT AT Thd el (AT T Thdl & ?

38. Which of the following would be the first previous year in case of a
business or profession newly set up on 31st March, 2020 as per the
Income Tax Act, 19617

(A) Start from 1st April, 2019 and will end on 31st March, 2020.
(B) Start from 31st March, 2020 and will end on 31st March, 2020.
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(C) Start from 1st April, 2020 and will end on 31st December, 2020.
(D) Start from 1st January, 2020 and will end on 31st March, 2020.

IR AAfAIH, 1961 & 36TER 31 A, 2020 1 79 TS ey egaary a1
9 & AHS H Aeafi@a & O T a1 ggor NSar ayv gem ?

(A) 1 30, 2019 ¥ & 3R 31 A, 2020 FH FATCA gleT dTel
(B) 31 AT, 2020 & & 31X 31 AW, 2020 & FATCA glel arer
(C) 1 3m¥er, 2020 & & 3R 31 fedR, 2020 A FATT gl dTell
(D) 1 SFTa, 2020 & 2% 3R 31 AT, 2020 F FATCA g aTel

39. As per the Income Tax Act, 1961 a person is said to be resident of
India in any previous year if he had been in India for a period of the
following number of days in the previous year:

(A) 180 days

(B) 182 days

(C) 184 days

(D) 186 days

3T JfAfATd, 1961 & HTaR freh cafed i el i Mool a¥ & s @
Y AT ST € e 98 Rod a¥ 7 Reafaf@d et fr e & for ara
TG B

(A) 180 fe=T
(B) 182 fe&=T
(C) 184 fe=
(D) 186 fet

40. Income is defined under which of the following provision of the Income
Tax Act, 19617

(A) Section 2(31)
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(B) Section 2(24)
(C) Section 2(9)
(D) Section 3

IR AAEIH, 1961 & AFAf@d & O [T waere & dgd 3 &l
gRani®a fFar & 2

(A) &RT 2(31)
(B) &IRT 2(24)
(C) & 2(9)
(D) ara

41. Which of the following is not a fraud as per the Indian Contract Act,
18727

(A) A promise made without intention of performing it.
(B) An active concealment of fact by one having knowledge of the fact.
(C) Mere silence if not duty bound to speak. https://www.xamstudy.com

(D) Any act or omission law specifically declares to be fraudulent.

HRART 3rqaer ffaas, 1872 & 37aR Prfaf@a & & #la a1 drared 78
g ?

(A) g8 areT for QU e & 36 & o famam o g

(B) 2T I AT IWA dlel TTFd GART d2T HI Hishd ¥T & UM |

(C) Ife Selet & FdeT gl & ar dhad Al Eal |

(D) % & AT g T8 Flefet [9AY &0 @ Lr@rest aif¥id & g |

42. Which of the following statement is correct if A, intending to deceive B,
falsely represents that five hundred maunds of indigo are made annually at
As factory, and thereby induces B to buy the factory?
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A) Contract is void ab initio.

(A)

(B) Contract is voidable at the option of A.

(C) Contract is voidable at the option of B.

(D) Contract is voidable at the option of A & B.

A, B &I 9@l 31 & ¢ &, F[OT IU &l § 6 A & SR # AT ardg
at # AT 9T AT § 3R 35 RE B F FREET W & o 9Ra sar

gl 3WIFd HUA & 3Telleh H TET Ahed Hl 3K Giod |
(A) 3T YR & & T &

(B) 3IstT A & [dehed W LraviT g

(C) 319 B & fashed W eaeiviT gl

(D) 3=tr A 3R B & fseq T raaviiT g

43. Which of the following injunction can be granted only by the decree
made at hearing and upon the merit of the suit?

(A) Temporary injunction

(B) Perpetual injunction
(C) Mandatory injunction
(D)

frfaf@d & & i @ AYurer goars & JAT R FAhcH & UIAN & IR
W Shad TSshl qant & ST Fehell § ?

Prohibitory injunction
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44. A stipulation in a bond for payment of compound interest on failure to
pay simple interest at the same rate as was payable upon the principal is
not a penalty within the meaning of which of the following provision of the

Indian Contract Act, 18727
A) Section 73

C

(A)

(B) Section 74
(C) Section 75
(D)

D) Section 76

Heltel TR & AIYURUT SATST T AT el H fAwerdl T 38 X W ahdefy
SISl & 3T & AU 915 & I AR Jegaer i, 1872 & foeaAfaiad
#F & fra aaes & 3 7 AT A6 & 2

(A) &RT 73
(B) &IRT 74
(C) uRT 75
(D) 4RT 76

45. What is the default interest payable under Section 63A of the Transfer
of Property Act, 18827

(A) 6% per annum

(B) 8% per annum

(C) 9% per annum

(D) No default rate prescribed.

Ui 3eaRorT FRAATH, 1882 T 9RT 63T F ded I BWhice Il fohdar & ?

https://www.xamstudy.com




46. Which of the following is the time limit given under Section 17 of the
Transfer of Property Act, 18827

(A) Life of the transferee

(B) A period of 18 years from the date of transfer.
(C) Either (A) or (B) whichever is longer

(D) Neither (A) nor (B)

U 3fedoT IRAfATA, 1882 Fir 4T 17 & dgd Aeafai@d & & v & g7
AT Er s g ?

(A) 3edRT &1 Sfae e
(B) 3ecdRuT FI aRIg & 18 a¥ &I 3rafer
(C) (A) aT (B), forwehr ot 3rafer 3ifere gt
(D) & @ (A) 3R = & (B)

47. Which of the following is not a negotiable instrument as per the
Negotiable Instruments Act, 18817

(A) Promissory note
(B) Hundi

(C) Bill of exchange
(D) Cheque

Ry for@d ifafags, 1881 & 3qaR fmfaf@d & @ &l a1 weprey
forga s1gr g 2
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48. In the light of Negotiable Instruments Act, 1881, at what rate interest
will be charged if the rate of interest is not mentioned on the negotiable
instruments?

A) 6% per annum

C) 18% per annum

(A)
(B) 10% per annum
(C)
(D)

D) 20% per annum

WarFg forma A, 1881 & 3male &, I gihe g @ W a1t &7 &l

3coi@ oIgl § df [hd ax & sareT foram e ?
(A) 6% 9fad av
(B) 10% 9fad a¥
(C) 18% ufa aw
(D) 20% Yfa aw

49. Within what period from the date of publication of the declaration, if no
award is made, the entire proceedings for the acquisition of land shall lapse
as per the Right to Fair Compensation and Transparency in Land
Acquisition, Rehabilitation and Resettlement Act, 20137

(A) 6 months

(B) 12 months
(C) 18 months
(D) 24 months

YO & YRl 7 diE ¥ g 3@f & fiaw afe =5 ey 767 e
ST & o fA fRerger, qoAare 3N qeediue 7 3RId #3maen AR gReRiar &
PR IfRfTH, 2013 & AR A 3ifRgor Hr g HRIaRr FATT &
STUar ?

(A) 6 FE
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50. What is the minimum percentage of affected families that need to give

their prior consent for acquiring land for private companies as per the Right
To Fair Compensation and Transparency in Land Acquisition, Rehabilitation

and Resettlement Act, 20137

FHIIIT IRERT T GATH FARAT fohelall & [Seg 8@ 31&argor, goa1d 3R
YA A 3 e AR aReRiar #r feR sfafags, 2013 & AR
forsl shuferat & faw i@ HFEor e & faT 3oel qd FeAld &ar gl & 2

(A) 75%
(B) 80%
(C) 90%
(D) 100%

51. Imagine an IPL team sets up a company to sell its own range of
clothes. What type of intellectual property can the team use to show that
the clothes are made by them?

A) Patents

(A)
(B) Geographical Indications

(C) Trademarks

(D)

Fedal HTAT foF Tk AT ST 3Tar FHU HI 3T 99 & v Huelr Fenid
A &l O ohE IR Fr Sicie d9er S 39AnT I8 '@ & v X dehdr

¢ T SUS 3edh ¢dRT §TC T § ?
(A) e

Registered designs
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&

REIEGRECIED]

52. How long do patents usually last for?
A) 10 years

(A)

(B) 20 years
(C) 25 years
(D)

D) 50 years
A 9T Uée $iT 37afy fhasr gar & 2

53. The concept of freedom of trade and commerce mentioned in the Indian

Constitution is motivated from the experience of the following country?
(A) America

(B) Australia

(C) Ireland

(D) United Kingdom

AR HiduTe # 3feal@d MR 3R arfvlcy & FdadT $HI FTUROT
fArfaf@d & @ g < & 373 @ aRT § 2
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(D) gArses fhersA

54. Which of the following writ is issued to enforce the performance of
public duties by the authority?

(A) Mandamus

(B) Quo warranto
(C) Certiorari

(D) Prohibition

fArfai@d & @ i @ Re TR qarT ddsiieeh dedi & Ulelel Sl o]
HT & fow ST T S 87

55. Which of the following Constitutional Amendment Act had made the
provision for publishing Hindi Translation of the Constitution?

(A) 52nd Amendment
B) 54th Amendment

D) 58th Amendment

fFrfafad & @ frg gawtas derus sRfTs & dfaus &1 @ egae
YehTTAT el T UTaYTeT TohaT 1T AT ?

(A) 52ar gy

(B) 54ar @My

(C) 56ar TeireeT

)
(B)
(C) 56th Amendment
(D)
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(D) 58al M

56. Which of the following is the landmark judgment on the Colourable

legislation?
(A) State of Bihar v Kameshwar Singh
(B) M. Karunanidhi v Union of India
(C) State of Karnataka v Union of India
(D)

D) Keshavan Madhava Menon v State of Bombay
fArAfaf@a & & sl a1 e fJue w efagfas Ao § 2
A) S8R T s FAR &g

(

(

(C) Fellesh T FATH IRT 99

(D) AT HATYT Helel TATH dies Ao

57. Which of the following Constitutional Amendment Act was passed in
light of the advisory opinion received in Re Berubari case?

A) The Constitution (Fourth Amendment) Act, 1955

(A) (

(B) The Constitution (Seventh Amendment) Act, 1956
(C) The Constitution (Ninth Amendment) Act, 1960
(D) The Constitution (

I SRR ATHS H 9Ied FlgapNT T & 3Tl H AeAfai@d § & T 491
gdunfaes ey fafaas aia fear = ar ?

Eleventh Amendment) Act, 1961
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58. Which of the following provision of the Constitution of India is relevant
for solving questions of repugnancy between a Central law and a State
law?

(A) Article 248
(B) Article 252
(

C) Article 254

)
(D) Article 256

ARG & ey &1 Aafaf@d & O ia ar gaus faa [JfEr 3k 1 [
& 9T JTIATT F 92T FI g A & [T grafs g ?

59. What transition period was provided in the Constitution of India for
changing official language of Union from English to Hindi?

(A) 5 years

(B) 10 years

(C) 15 years

(D) 25 years

IRT & GRAU & g Y TIHTYT & 3P T Ber & deoa & o forger
ThAUT FaATT Yarel & 5 oA ?
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60. In which of the following case it was held that there could be no
reservation on single post in the cadre?

A) Chakradhar Paswan v State of Bihar

(A)
(B) K.C. Vasanth Kumar v State of Karnataka
(C) A.B.S.K. Sangh (Rly) v Union of India
(D)

D) State of Kerala v N.M. Thomas

fifaf@a & @ fhg #AFe d I8 Avfia fear = & @aer & o ug X 18
3RETOT AT g1 Fehell ?

A) TR qrEA TH SgR ToT

) TE.UH. &. T (¥ed) FoIH ART g

(
(B) &.4. U FAR FATH Fellceh T
(C
(D) A T §eATH Uod. TH. ATHA

61. Sexual harassment of a working woman at her place of work may also
be considered as the violation of which of the following provision of the

Constitution of India?
(A) Article 19(1
(B) Article 19(1
(C) Article 19(1
(D) Article 19(1)(g)

frdT SreETe AT & Y 3P FRTTT W Al 3cdisd HF ARG Fiaemd &
Afaf@a & O g gaua &1 Iedud 8 AT ST haT § ?
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62. Which of the following doctrine has been applied to resolve the conflict
between Article 25(2)(b) and 26(b) of the Constitution of India?

(A) Doctrine of Harmonious construction

(B) Doctrine of Casus Omissus

(C) Doctrine of Liberal interpretation
(D) Doctrine of Pith and substance

HRA & AU & Iefesq 25(2) (4 3R 26(s) & &I cad &l §ol el &
fov fmafafead & @ @l ar ey o fhar sirar g 2

63. In which of the following situations Indian Penal Code, 1860 may not
apply?
i. An offence committed by Indians outside India.

ii. An offence committed by any person on any ship registered in India.

ii. Any person committing offence targeting computer resources located in
any country

(A) Only i
(B) Only ii
(C) Only iii
(D) Only i & ii
frmafaf@a & @ g Pufa & ardg &3 dfgar, 1860 9] =gl & Fehcll § ?
i. R gaRT HRT & aeY foRar arm 3ToRTY

ii. RT A Tolicha fordlt 8ff SeTer W Tt <afFa carT foham arm 3Ty
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iii. ToReT 8T qer 7 T¥Ua Fogey U S ARG STrt ORI T dTell H1S

64. How many types of punishment are currently existing under the Indian
Penal Code, 18607

AR &3 Afgdr, 1860 & 3ideld adde H fhdsl YR & &3 FeIAT § ?

65. A and Z agree to fence with each other for amusement. In the course
of such fencing, while playing fairly. A hurts Z severely. Which of the
following offence is committed by A? https://www.xamstudy.com

A) Hurt

)
B) Attempt to murder
)

C) Grievous hurt

(
(
(
(D) No offence

A 3R Z ARSI & fAT Uh-g@ & A1 deldRarsl & fov #@gaAd gld g1 59
doaRETelr & eRie, 3™d 9 & Weld gC, A, Z F ITHR §9 § dic q§u| aar gl
A EaRT [AFATITEd | @ shisT AT IIRTE foham a=m § 2
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(C) ¥R =i
(D) HIS FRTY gl

66. In which of the following situations right of private defence can not
extend to causing death?

A) In case when an assault is causing apprehension of murder.

C) In case when assault is reflecting intention of causing simple hurt.

(A)
(B) In case when assault is reflecting intention of committing rape.
(C)
(D)

frrfaf@a & @ forg Tufa & e suE &1 ARHR g HIRT e dh
faeaRa =g & &t ?

(A) 08 AHS H JI9 TRdT gHel & g1 I 3T &

(B) TH HIHS H A9 §HT ScllchR el o 3G I &ATdT 8l

(C) Y& A H SI9 gHT WYRYT e Igall & IS I =TT &l |

(D) U HHAS H S §HAT 3WThiclh dTHAT HI TS el o IS I GATAT & |

In case when assault is reflecting intention of gratifying unnatural lust.

67. For which of the following Section of the Indian Penal Code, 1860 the

word benefit does not include pecuniary benefits?
A) Section 89

C) Section 156

(A)
(B) Section 155
(C)
(D) Section 370

AT &3 Ifedr, 1860 Hr Alaf@a & O fvg arr & T omey e &
e omar nfAe a8 87

(A) RT 89
(B) &RT 155
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(C) &rT 156
(D) &RT 370

68. X intentionally pulls up a woman's veil without her consent intending to
annoy her. As per the Indian Penal Code, 1860 which of the following
offence he has committed ?

(A) Hurt

(B) Criminal force
(C) Assault

(D) Grievous hurt

X Sieisgtent fohdll ATGel &l TRRATT el & e & 3HRT FgATd o [l 38T
goc @adr §1 AR &8 |fegdt, 1860 & 38R 38 feaAfaf@d ¥ & &l @
e fohar § 2

A) T

%

B

C) g&ell

(
(
(
(D) 18R =

)
)
)
)

D

o

69. What punishment is prescribed under the Indian Penal Code, 1860 for a
person who maims any minor in order that such minor may be used for the
purposes of begging?

(A) Imprisonment for 5 years and fine

(B) Imprisonment for 7 years and fine
(C) Imprisonment for 10 years and fine
(D) Imprisonment for life and fine

https://www.xamstudy.com




AT &3 Figar, 1860 & dgd W =afdd & v oar gom AuiRa $ir g & o
fordT AT ST 39T §ATAT § dTfeh VF ATEITeRT &7 AT 3@ Al & fow
forar ST |3 ?

70. X threatens to publish a defamatory libel concerning Y unless Y gives
him money. Which of the following punishment may be given to X for the
act committed by him as per the Indian Penal Code, 18607

(A) Imprisonment upto 2 years, or with fine or with both.
(B) Imprisonment upto 3 years, or with fine or with both.
(C) Imprisonment upto 5 years, or with fine or with both.

(D) Imprisonment upto 7 years, or with fine or with both.

X GHAT ST & b PR Y 38 94 Fg1 Ga ot 98 Y & §9Y H ARGl o
YeRITRIT & 3aNT| HRAT &3 Wi, 1860 & 3e[AR X Hl 36d GanT fhU arw
Fcd & fav AeAfaf@d & @ FlT A Far & S Tkl & 2

A) 2 |Tl T &I HRIEM, AT SFAT AT clal

B) 3 |IeT oeh & HNIEH, AT SATAT AT clal

C) 5 Hrel T I HREMH, AT AT AT el

(A)
(B)
(C)
(D) 7 &I deh T HRIETE, IT SHT IT St

71. Which of the following sentence is an Assistant Sessions Judge
authorised to pass as per the Code of Criminal Procedure, 19737

(A) Sentence of death.

(B) Sentence of imprisonment for life.
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(C) Sentence of imprisonment for a term not exceeding ten years.

(D) Sentence of imprisonment for a term exceeding ten years.

¢ ufshar Afedr, 1973 & 36TAR Feeh TF Al Aeifaf@d & & @ Al
& ot IR & & T 3ifeead § 2

(A) AT &1 T

(B) 3MTSiide ShRTarH hl Hall

(C) gF a¥ de& T 370 & foIv RE™ i Faorr
(D) &F ay ¥ 318 3a™ & foIv SREE 1 o

72. A person arrested by a private person for committing a non-bailable and
cognizable offence shall be re-arrested by a police officer if such person
comes under which of the following provision of the Code of Criminal

Procedure, 19737
(A) Section 41
(B) Section 41A
(C) Section 42
(D) Section 43

IR-STAET 3R TAT IR W & fow fmar e afFa ganr fRear fee
M0 gidd A gferd AR g@rT e @ TREAR T sreen afe oar egfed
&g gfehar |fgdr, 1973 & A=faf@a & O 59 waus & dgd 3T & ?

73. Under which of the following situation wife is not entitled for
maintenance under Section 125 of the Code of Criminal Procedure, 19737
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A) Husband presumes that wife is living in adultery.

(
(
(C) Wife living separately as husband keeps a mistress.
(

)

B) Voluntarily wife refuses to live with husband.
)
)

D) Wife is forcefully removed from the house.

rafafea 7 O g afa & g &g ufhar @fgar, 1973 &1 9RT 125 & dgd
FROT-GIYUT FI EheR el ¢ ?

(A) 9fT AT & & gy SIRar & w® W@ 2

(B) Ucsll TaTaT H Ufd & TTY Wl A SABR HIdr @ |
(C) Ucel 3ol I§ T & it ufd Wer @ g

(D) Yeedl &l AReedl &R & e G s &r |

74. Which of the following procedure is dealt under Section 164-A of the

Code of Criminal Procedure, 19737
(A) Medical examination of the victim of rape.
(B) Attendance of witness by police officer.
(C) Recording of confession statement.

(D)

D) Recording of first information report by police officer.

afaf@a & O wia O ufshar eg uferar afgar, 1973 &1 9RT 164-T & dgd
AT ?

75. Which of the following is incorrect with respect to diary of proceedings
in investigation as per the Code of Criminal Procedure, 19737

https://www.xamstudy.com




(A) The statements of withesses recorded during investigation shall be
inserted in the diary.

(B) The diary shall be duly paginated.
(C) The diary may be used as evidence.

(D) Can be used by the police officers to refresh memory.

s gfshar |fgar, 1973 & 3[AR 3eAN0T # FAarE! H SR & Fae #

Pef@a d A FT T Teaa g 2
(A) 3=AYUT & aRIT ol fhT 1T gl & §aeT S & sTel SATVaT|

(B) SRR &1 geaiferd famam smwem

(C) ST &I FIET & 9 H STAATA [hAT AT T gl

(D) gferd AR e@RT T & dlell i & T 3uier fhar a1 dehdr Bl

76. In which of the following cases manner of committing offence is not
required to be mentioned in the charge as per the Code of Criminal
Procedure, 19737

(A) A is accused of the theft of a certain article at a certain time and place.
(B) A is accused of cheating B at a given time and place.

(C) A is accused of disobeying a direction of the law with intent to save B
from punishment.

(D) A is accused of giving false evidence at a given time and place.

fFrfafad & @ g A # &3 uishar @fgdr, 1973 & AR 3R & &
ek FT IRT H 3ol FET 3G9I T8l & ?

(A) A Toh TARET FAY IR T R fRdr a&g &1 Al &1 3fAgTd & |
(B) A Ush fAfRad §#Y 3 T\ W B & €1@r & & ARG 8l

(C) A B I &l @ §H1el & TG  hiolel & TAE T AT A & ATAGeF
gl |

(D) A fre T 3R ¥l WX 38T A S 1 HHYFA Y |
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77. Which of the following offences may be tried summarily as per the
Code of Criminal Procedure, 19737

(A) Offence under Section 454 of the IPC.
(B) Offence under Section 504 of the IPC.

(C) Offence punishable with imprisonment for a term not exceeding two
years.

(D) Offence punishable with life imprisonment.

s yfshar |fgar, 1973 & IR fAmfaf@d & @ & @ o 3rRreyr & dfeed

foaRoT fhar ST Fhdt & 2
(A) ITSUET Fr aRT 454 F dgd IR

(B) TSUIET Fr aRT 504 & dgd IR

(C) & aY 37118 &I AT & HRIEE I G 3TURTE
(D) 3TSldel HRIGH & SSa1g TUTE

78. Which of the following Section of the Code of Criminal Procedure, 1973
provides for reference to High Court?

(A) Section 275
(B
(C
(D) Section 395

es yferar gfear, 1973 &1 [A=f@a & @ aia I 9T 3= A arad & Acer
HT YT LAl & ?

Section 325

)
)
) Section 383
)
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79. A person accused of the following offence may not be granted bail
under Section 438 of the Code of Criminal Procedure, 1973:

i. Accused of offence under Section 376AB of the IPC.
ii. Accused of offence under Section 376DA of the IPC.

iii. Accused of offence under Section 376DB of the IPC.

(A) i & ii
(B) ii & iii
(C) iii & i
(D) i, ii & iii

PArafaf@a 3wy & 3 afFa & &3 ufehar afgdar, 1973 &1 ORT 438 &
dgd STHAd olal &f ST Hehal

i. 3TSYRAT T GRT 376TeT & dgd 3T9RTY I 3TRIYT
ii. 3SUIET T RT 37631T & dgd IR T RAT
iii. 3MSYIAT T YRT 376316 & dgd 3TURTET &l RIYT

(A) i 3R i
(B) ii 3R iii
(C) iii 3 i
(D) i, ii 3R iii

80. Which of the following act if done by any Magistrate, even in good faith
without being empowered, shall vitiate the proceedings as per the Code of
Criminal Procedure, 19737

A) Tender a pardon under Section 306 of CrPC.

(A)
(B) Recall a case and try it under Section 410 of the CrPC.
(C) Attaches property under Section 83 of the CrPC.

(D)

D) Hold an inquest under Section 176 of the CrPC.
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It dIs AToEce Feafoi@d # & Hid a1 F 81 TSR & AT § HoF &F
FegrasT H fohar arar g1, o &3 9fshan dfgdr, 1973 & 31JaR Hram! i
fegardr X garm ?

(A) I3RYET T 9RT 306 & dgd &THIGRT ¢ol |

(B) Th&lY ATHS @l YcdTedlsl e 3R AR dr aRT 410 & T HoheHl
TellaT |

(C) W3R T &RT 83 & dgcd WU FHeh Hlel |
(D) HIIRUET Fr aRT 176 & dgd SIid e |

81. Which of the following is material for deciding the jurisdiction of the Civil
Court in the light of the Code of Civil Procedure, 1908 ?

(A) Averments made in the plaint

(B) Averments made in the written statement
(C) Both (A) & (B)

(D) Neither (A) nor (B)

Srarelr (RAfaer) ufshar g@fgar, 1908 & 3Telier & SO AT & TSR 31
a9 & & fov| efaf@d & @ $ia & Ageaqer § 2

(A) deud # fgU IT gAY

(B) fof@d sareT & QU Irw g&HToT
(C) & (A) 3R (B)
(D) & @ (A) 3R = & (B)

82. Which of the following cannot be considered as the suit of civil nature
for Section 9 of the Code of Civil Procedure, 1908 ?

(A) Suit for recovery of voluntary payments or offerings.
(B) Suit for rights of franchise.

(C) Suit for specific reliefs.
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(D) Suit relating to rights of worship.

rare wfshar |fgar, 1908 &1 aRT 9 & fav Fefai@a & & fhd dae i
T HFHCHT oTgl AT ST Fhll ?

83. Which of the following provision of the Code of Civil Procedure, 1908
makes the doctrine of res judicata applicable in representative suit?

(A) Section 11, Explanation V
(B) Section 11, Explanation VI
C) Section 11. Explanation VII
(D) Section 11. Explanation VIl

rarel gfshar dfgar, 1908 &1 fAeAfaf@d & @ @l a1 grau gfafafr Haea
A W Sgf3her (W3 ~a17) & AU 1 oE] T § ?

84. In which of the following situations a court will not issue summons for
personal appearance to the defendant?

(A) If defendant reside within the local limit of the court's jurisdiction.

(B) If defendant resides with within 40 miles from the court.
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(C) If defendant resides 250 miles away from the court in an area having
public conveyance available.

(D) Woman to whom Section 132 of the Civil Procedure Code, 1908 does
not apply.

aff@a 7 O g U & e gfaarr & afeaera 3ufeafa & e
HFHAA SIRT T8l i ?

(A) I 9TAaET ~araTerd & 3TH- & FI TUT WA & iR Igar &l
(B) Ife gfaardr =amamerd & 40 #Hrel & HaX 8T & |

(C) afg JfAEr A algel 3Tt gl dlel &9 F Ao § 250 el gy
3T &l |

(D) Afger o W Eae gfkar dfgar, 1908 & arT 132 o] A& g &l

85. In which of the following situation plaintiff is precluded from bringing a
fresh suit as per the Code of Civil Procedure, 19087

(A) Dismissal of suit where summons not served in consequence of

plaintiff's failure to pay costs.
(B) Dismissal of suit because neither party appeared.
(C) Dismissal of suit in because plaintiff did not appear.

(D) Dismissal of suit because plaintiff did not apply for fresh summons
within given time limit once it returned unserved.

fArafafad & @ foa Tufd & a1 &1 Qarer gfshar @fedr, 1908 & 3TaR =3
HeheH AT FaA @ bl ST § 2

(A) FHEH P WIS FXAT 6T IGT GANT AG-eAT HT T Flel 7 Aol &
IRUTATIERT TFAT 81 f&ar arar o

(B) fordlr of weT & 3UTEUA 16T &1 & FROT HheHAT WIS AT
(C) areY & 3UTEUT ALt Bl o HROT HhGHAT WIRST HIAT |
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(D) HFeH & WISl HIAT Fifeh q&r o o= drefier fovw arad 31er & sre &
TS AT HAT & M A0 FAT & T e =187 fhar |

86. How many times at max may an adjournment be granted to a party
during hearing of the suit as per the Code of Civil Procedure, 19087

A) Two times

(A)

(B) Three times

(C) Four times

(D) No limit prescribed

Erarel gfshar |fgdr, 1908 & 3HJHR HeheH HT FoAdrs & aRieT Rl gaT &l
I dH fhdal IR TAA 8T T FehdT § 2

87. Which of the following Amendment Act made the provision in the Code
of Civil Procedure, 1908 to produce a withess without a summons?

(A) The Code of Civil Procedure (Amendment) Act, 1976
(B) The Code of Civil Procedure (Amendment) Act, 1999
(C) The Code of Civil Procedure (Amendment) Act, 2002
(D) Such provision does not exist.

Prafaf@a § O g gy 3RRad F ae gfear afgar, 1908 & foar
FHT & ITAIE H UA ey T g forar ar ?

(A) SrateT gfehar dfgdr (Feiee) Jfafaga, 1976
(B) ErateiT gfehar dfgdr (Feiee) fafaga, 1999
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(C) Eraretr ufshar afgar (waysr) iffaz®, 2002
(D) VAT FIg Yrate Hisig el ol

88. Which of the following is not included in the word costs as provided

under the Code of Civil Procedure, 1908
(A) The expenses of the witnesses incurred.
(B) Legal fees and expenses incurred.

(C) Fooding and lodging expenses incurred.

(D) Any other expenses incurred in connection with the proceedings.

crareir gfsrar Afgdar, 1908 & dgd feU v arg-cay e H Aefafaad & & &1
enfAer 8T & 2

89. What period is prescribed under the Code of Civil Procedure, 1908 for
defendant to enter an appearance for filing address for service of notice on
him in case of a suit where summary procedure is to be applied?

(A) Seven days from the date of receiving of summons.
(B) Ten days from the date of receiving of summons.
(C) Fifteen days from the date of receiving of summons.

(D) Thirty days from the date of receiving of summons.

fornely HeheA & A & STE1 TE (@fered) Tfshar o) i el g gfdarer
3 R Afed i defier g7 I 1@ i & v 39feyd gl & faw dami
gfehar Tfgdr, 1908 & dgd Tohdeir A aRa &r a8 § ?

(A) TFFT 9o gl & ai@ & ag e
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(B) TFHS uTed gl T aii@ & 7 fea
(C) TFHA Ut Blel &I dRIg & ugg feat
(D) §FHT UTcd gl T dki@ & i &l

90. Under which of the following provisions of the Code of Civil Procedure,
1908 the appellate court may remit an issue for trial to lower court?

(A) Order XLI Rule 23
(B) Order XLI Rule 23-A
(C) Order XLI Rule 24
(D) Order XLI Rule 25

draren gfehar @fgar, 1908 & frafaf@a & O forg yaensT & dgag e

3ered e Agg & gofars & v el fered # #er §hr § ?
(A) 3mcer XLl f&zer 23
(B) 3mcer XLl f&@er 23w
(C) 3meer XLl faue 24
(D) 3meer XL f&3ger 25

91. A is accused of the murder of B by beating him. Which of the following
will not be considered as relevant fact forming part of the same transaction
as per the Indian Evidence Act, 18727

(A) Whatever said by A or B at the time of beating.

(B) Whatever done by A or B at the time of beating

(C) Whatever said by by-standers at the time of beating

(D) Whatever said by A or B a day before the day of beating

A dliedieat B &I &caT el 1 3fAged g1 feafaf@a & @ frd sircy arey
JfRfagd, 1872 & HTAR AT Hd-helld 7 FEAT Sofal aTell WIS aeg w60
AT STTaT ?
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A) Terg & @FT A a1 B o St $o 3 el
B) Mers & @HI A a1 B & S %o i ok
C) Mere & Ay IT-uH @3 ool o S F o gT |

D) fUer$ arel &t & Teh feeT Ugel A a1 B o St Fo 8 g |

92. Which of the following provisions of the Indian Evidence Act, 1872 says
that the confession to police-officer shall not be proved against him ?

(A) Section 24
(B) Section 25
(C) Section 26
(D) Section 27

AR areg 3RAATA, 1872 &1 ArATai@d # & i a1 g sedr ¢ &
qierd-3TahR & FHET HEAhid 30 faeeyr Arfad =g dr smeafr ?

S

A) GRT 24
(B) &RT 25
(C) 4RT 26
(D) &RT 27

93. Under which of the following provision of the Indian Evidence Act, 1872
dying declaration may be admitted as evidence?

A) Section 25

C

(A)

(B) Section 29
(C) Section 32
(D)

D) Section 37

https://www.xamstudy.com




AT greg fafayd, 1872 & Fafaf@a & @ 59 waus & dgd
HAcgHIeh HYUA F FI&F & T H ThR fHAT 57 Fehell § 2

94. Which of the following is correct according to the Indian Evidence Act,
1872 pertaining to proof of contents of the documents?

(A) Contents of the documents shall be proved by primary evidence.
(B) Contents of the documents may be proved by secondary evidence.

(C) Contents of the documents shall be proved by both primary and
secondary evidence

(D) Contents of documents may be proved either by primary or by
secondary evidence

HRAT 1&g HATAIH, 1872 & HTEN GEAASI HT Iedaed & THT & Ha
d Aafof@a & 9 sl ar @@r g ?

(A) SEATEST T edded IAfAs AIET SanT Afad $HT STwah|
(B) S¥ATASH I 3edded P fdciideh W& GanT Hfad fHar ST HevaTr &

(C) &St T 3edasq FruffAsw iR gfacigs gl Qe earT arfad i
ST |

(D) &SIl T Iedasd TATAS AT Sfacideh FIET eaRT i Hr ST Hebell g

95. Which of the following is a correct statement as per the Indian Evidence
Act, 18727

(A) Leading questions may be asked in examination-in-chief.

(B) Leading questions may be asked in cross-examination.
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(C) Leading questions may be asked in re-examination.

(D) Leading question cannot be asked in cross-examination.

AR qrey fafaad, 1872 & 3qaR Aefafad # @ &l a1 Fu T@r ¢ 2
A) TIh 9T HET e H g8 S qhd &

B) foRE (Ifa-9dtam) & Fas 9 Y& S Hehd &l

C) Yo-wRIaT & Faeh 9 Y& S Hehd ¢l

D) ToE (ITd-udlem) H FeIeh 9T T8l T S Hehll |

96. In which of the following case did the Supreme Court of India clarify the
admissibility of electronic record as evidence?

(A) Anvar P.V. v. P.K Basheer

(B) State of Haryana v Jai Singh

(C) State of Maharashtra v Natwarlal Damodardas Soni
(

D) State of Punjab v Jagir Singh

afaf@a 7 O v AFd & 9RT & gaftd Aaad o 8T & & H
Solaciieleh oIS Sl FAIhIIT & TIse fhar ar ?

(A) 37eTaX dr.dl. g1 @Y. &, TR
R U I o R

(B)
(C) HERTSE AT FATH Icalellel GIAGIGRT Tlair
(D) YoITs ToT 1 SR &g

B

97. Which of the following is incorrect statement in the light of Indian
Evidence Act, 18727

(A) Confession always go against a person making it.
(B) Admissions are conclusive as to the matters admitted

(C) Admissions may operate as an estoppel
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(D) Confession is statement written or oral which is direct admission of suit.

TR e 3fAETE, 1872 & 3meis d Peafaf@a & @ i a1 Faa od
g7

(A) HEIHIT A A dTed ST & W STl &

(B) TR [T 3T AHAT & FEY H TIhRITFd 0TS &

(C) TPRITFT T f9aeT & ®T & F1T & Tohd &l

(D) FEdpfa faf@d ar #if@s sa= § S HaweH T JegaT Fdhfd Bl

98. Which of the following Section of the Indian Evidence Act, 1872 is an
exception to the hearsay rule? https://www.xamstudy.com

(A) Section 32 (1)
(B) Section 32 (2)
(C) Section 32 (3)
(D) Section 32 (5)

AR wrEd HafgA, 1872 @ Prafaf@d # ¥ i @ urr sepafa s &
39drG g ?

99. Which of the following is not a recognized alternate dispute resolution
mechanism under the Code of Civil Procedure, 19087

(A) Arbitration
(B) Conciliation

(C) Lok Adalat
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(D) Negotiation

afaf@a & O =i ar daer 9fshar dfgdr, 1908 & dgd TUah AT 9Ied
Jhfodsh Taarg AT o oTel & ?

olleh 3TeTold

)
B) Hele
)
D) STe=ild

100. Which of the following is incorrect statement with respect to Lok
Adalat?

(A) No court fee is required in Lok Adalat.

(B) Lok Adalat can deal with all civil & criminal matters.
(C) Award of Lok Adalat is a deemed decree
(

D) No appeal against the award of Lok Adalat is allowed.

dleh 37ETddd & 99 H AFATo@d H & hid AT HYUA ITadd g ?

A) dlieh 37aTelcd H TRl =TT foeh & ATaRTehll o6l Bl o

B) dlieh 37aTeld Tl dlarer 3R 3RS (PiSierl) Atde & 9e dohar ¢
C) olie 31erald &1 3fafauy v Ag 36 £

D) @& 31aTeld & el & f@erw srdier &t srgafa & &

(
(
(
(
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